\%
N
=)
o

=
o
o

o

O X > (um) for P

—100

<

-200]

-300

-400]

500F

Ratig

16 15 20
Vertexz (cm)

=5000

A4000

x

©

V3000
2000

1000

D015 10

10 15 20
Vertex z (cm)

50 5

10 15 20
Vertex z (cm)

£ 0 5

%EE?P”‘ R

II?

=TTV

uarg

uare

CUIT

s?esébe 'bar D ggs 1nasvva38%mtest

a
o
o

D
o
o

<oy > (um) for PV
w
o
o

0 -15 -10 -5 510 15 20
Vertex z (cm)

<1000
o

S 800
OO ot araALEERERIRF [ | ERER AP
A

N [ : : : : :
1o e SR R | K RRRESRPRRS I I

200f i L

10 15 20
Vertex z (cm)

.......................................

P | A F A
-20 -15 -10 0 5

10 15 20
Vertex z (cm)

(um)
=

<QzZ>
=
o
=)
)

i T

Vertex z (cm)

gOOC

al
o
o

a o
o o
o o
L L L B L

<0y > for merged vertices (i

...............................................

10 15 20
Vertex z (cm)

<2z > fqmerged vertiges (um),
8 8
o (@)

T T T T T

o

.................................

.............

Ratio
R B
T

O

51510

10 15 20
Vertex z (cm)




	Contents
	Page 1


